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Answer any five questions
All questions carry equal marks
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n ~~}a8)  Draw theschematic of gas turbine power plant and R&plam AN
;‘_'H ( = b) ﬁxplanp m detail anut energy con}servatnonand styrag\e. ----- !;L_‘z\ [§Q{ i 5
2.a) Give the advantages and disadvantages of hydroelectric plants
b) Discuss in detail about the components of tidal power plant. [7+8]

3.a) A generating station has a maximum demand of 30 MW and has connected load of
. 60 MW, The annual generation of }xmts is 30 x 107 kWh Calculate the load factor apd
0 o the\demand factor. | / nt o 4N 2

AN\ b) /Discuss.in detai)about the: dlffergnce ‘between loaﬁrve and load c{EAmtleu curve. [S‘+ﬂ\
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4.a) An industry daily load is 200 kW for first 2 hr, 90 kW for next 8 hr, 140 kW for next
6 hr, and 6 kW for the remaining time. Calculate the electricity expenditure per year, if
the tariff in force is Rs. 1,100/kW of maximum demand per annum plus Rs. 1.0/kWh.

b) Explam the SIgmﬁcance of load factor and diversity factor. [8+7]
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" " b) A string of eight suspension insulators is to be f' tted with a gradmg ring. If thepinto

earth capacitances are all equal to C, find the values of line to pin capacitances that
would give a uniform voltage distribution over the string. [8+7]
6.a) Discuss about various types of cables.

A~ b)  Determine the ma)glmum working woltage-of a smg}e core-lead sheathed eable havinga .
AR N ,quuctor 1 emé gmd sheath jof, 5 cm. dia ingide. Twe insulating |materials \nth\ =
/Nt Jpermittivities arld maximtém strésses'4,°2:$ and 60 kV/emand 56 kVicin- respectively® "

are used. [8+7]
7.a)  Explain the methods of reducing corona loss.
b) Derive the expression for the capacitance of three phase lines with symmetrical
S acmg. X g, ~ b e s ke s
’ iy ve) g . I R . N (Feqil « W (i ’B =
_8.8) /Give ‘the detailed comparison betieeh AC.and DC distributions. 7\ .4 XNt
b) Discuss in detail about the selection of site for substation. [8+7]
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